J broctiea t

Wﬁ{. - O{AMQ {‘CLMG(.-CZ.S

Peus tielle Ab Lu’(wa
Cute Avee

Cirnen ?%Mb'ou ( an

. Veriab [ err

g: D

—

X =0 X %) —>

D <"

D e.-[C cmclhiou herecl,

@Pf—’a, X ) =

e

C C) V Md(ﬁa)

{ ) = fieg, %) =

pOLVL‘LLC(. Abﬁu'\f-owa Vo TFC?) el

24

LA
VXe w->o

(X+he, )
A £ ' el,& /L=o

b Rcdﬂg‘w&g ab L&qub, ey é{a !

1
W ( {(x,, y ey Kethy

,\(M) — {(K,“ ,..;i(i‘ ,,.)(M)J

Ate Stete
J

-.‘_"":

e,=(o,. 1, o)



B es Et‘z/(z_

4) g[x’”’(y) = X"z )(1
—~ Q4 Z) = 244, 94 (2 = xi
D Xn 0 Xy
P 7
—_— —_ f— o
2) @:.e\é'v*a_fas f-mhb'ou: X — l)(i:"/i}:d X,(j
.
~ 2 x| _ 7 2k, = Ke
—3)‘5‘& Zijz If]
3 - ~
) gcz) = _HZ k) S PR =R
| - - ( N
~ 94 2y = £ (%) 2L - LX) ﬁé__l
K, DX, | X

(lrreane /Vaglf‘“?"’l’wﬁ.. Uean 7?[?) dan X

g(?+hl:) = f(K,,aLL,,} SRR SR L )

= JLx) + 0L 2y by + U@l r L2 b
X,

Fa:'(ﬁ BX]A

oL Lg(i IR GRS U Db, |+ o)




Y)Q'Fl;m{ Lou vaciewd Vo (]P(?J n ¥
i >
Wwﬁ?cf) = 2 94 ) e!_J £ R
A=4 73Xp

= (e U, o)
oKX,

VX4

i

0 X

.J(?+ﬁ) = %75;?) +

et J @, J b oL

rr/Va Lelicn A thels N bt~ Opovefon

9 fur
— %4 — ?X»{jﬁ )
Vo= - ~ VW = | = el JL2)
5 !
KW PRI
@u"sE»‘z/Ca
7) {f(x’”)()) = X,,l)(l — O'X\/aa(.{(?) = (2)9,;(2 ) xf)
x| = ( x 7 z
2) %aa{ l)(’ B "'IXJ:"-‘JXM)I_);C:f - g
- ( IS
3) v ALUxy = R (&) X

C!A.’/ﬁ ) L {CHM‘ go&q'fﬁ,&u les Gyactie L.
7) carmacgo‘é‘) ;.»a'@:‘ Lax
Amsticge v f s 2
2 oot 46702*') stelt

oo

ST v e Fean

c_ﬁlzl_k—y—eik-‘é 2l /M‘Véa.u'gyperﬁﬁa‘:‘c&-w



3) A (Xt6)) = L yact f(R0) )?(H>
oA § ) et ’

a

tacd) - (ﬁr/adiw))lﬂ > Maarivmal Urn H Wﬂfb‘?? /

1ac3) Zﬁ_f Jezin) = /ﬁ}é (§(X(teae)) - {2
A o

= X () + i(flit
Af( 4 (L) +<f0rvao(a@(frfu} L Ae Y —{(zzm)

= ( e f(?fmj X (6>

2 2) rl

A/ih\/{a.u-* H‘;frmf(.a:ch /VC,. = g )? é-/)Qu ( f()?) = /C_j

e KU Rabe s Al JRD) = <
( . :
—> O = Z_( £ (%(f}) = \/Md{(?(f.))} ?[/) >
At 3) 1\

-é&'/uaf::{/&c/ 2 /V4: (

A« )-?Cé) . NVe Lo&:a-(at'a 7':«11(' , otass C7Jvc._af 5 (Z) Setchyechs

w A,
]

2watle  packiell Abletuny vou JR) aed X, wweet K5 tan X

2

vV de 5 (242) =2

(24 o

) ?
for bwreielost gttt Fhton
( Sov gc;(«wwzJ Ve Arvad )



i, 0,) = <= %,
— *)
7 24 - e (?_K,,XL) = 22X
VK, K, %
I
0 xx
2
0 2 |
ff(x} "—‘2(&2J~'2—><4
9 X 0%, D¥p N
- — X ¥ = ?_
"b}(l _be a ;J Kz(’l)(,u(,)

uclj hewe Pay&lé& /(bLOI(LMAW ;
U
4 -
0 glx) A
’B)(,@ - h’{eu X-fm.m BX‘Q (
AAAU\WM‘?L g

TOL7 Lev -Ene¥ wc'cfﬁ(&u& Vver ,apb_;)

/a'z—

—_—

fz) =

| - n
CJ R = o)+ Y Y, + 1

= /
A=1 X, 2




F:T@ylw —Em‘wr‘o/t&«& heg sl L - €on Ovetrney ikt
PG’CVMO/V‘VL L('ll/(/um 6'((5:‘-&5 ey )(q
()
Ak ot tangns R

Vo {(Z) A bey e s bivmnec (L-:‘) .

X cALsSena PC{&/L“-&M-‘-

[ | Ay

1 %

FM;_, e =e -,..)L( M e enn



